

Control Number: 46563



Item Number: 5

Addendum StartPage: 0



RECEIVED

July 10, 2018

2. 2.

84 1 PUBLIC UTILITY COMMISSION

Filing Clerk Central Records Public Utility Commission of Texas 1701 N. Congress Ave. Austin, Texas 78701

RE: Docket No. 46563 — Surcharge Collection Report Related to Docket No. 45248 (Ratepayers Appeal of the Decision of the City of Fritch to Change Rates)

To the Filing Clerk of the Public Utility Commission of Texas:

Pursuant to the Commission's Final Order in Docket No. 45248 - Ratepayers' Appeal of the Decision of the City of Fritch to Change Rates, on about July 6, 2018, the City of Fritch filed its report regarding rate-case expenses recovered during the period from January 1, 2017 through December 31, 2017. Based on discussions with Commission Staff, we understand that the report we previously filed was illegible. By this letter we are resubmitting the City of Fritch's rate-case expense report for the period January 1, 2017 through December 31, 2017.

Enclosure



t t

SURCHARGE COLLECTION REPORT RELATED TO DN 45248 -Thru December 2017

Date of Bill	No. of Meters	Credit per meter	Credit/Refund 12 month	Credit/Refund Balance	No. of Meters	Surcharge per meter	36-mo. Surcharge per meter	Balance \$54,440.63
31-Jan-17	1,126	2.20	2,477.20	2,477.20	1,126	1.31	1,475.06	52,965.57
28-Feb-17	1,116	2.20	2,455.20	4,932.40	1,116	1.31	1,461.96	51,503.61
31-Mar-17	1,112	2.20	2,446.40	7,378.80	1,112	1.31	1,456.72	50,046.89
30-Apr-17	1,100	2.20	2,420.00	9,798.80	1,100	1.31	1,441.00	48,605.89
31-May-17	1,125	2.20	2,475.00	12,273.80	1,125	1.31	1,473.75	47,132.14
30-Jun-17	1,132	2.20	2,490.40	14,764.20	1,132	1.31	1,482.92	45,649.22
31-Jul-17	1,145	2.20	2,519.00	17,283.20	1,146	1.31	1,501.26	44,147.96
31-Aug-17	1,144	2.20	2,516.80	19,800.00	1,145	1.31	1,499.95	42,648.01
30-Sep-17	1,134	2.20	2,494.80	22,294.80	1,134	1.31	1,485.54	41,162.47
31-Oct-17	1,129	2.20	2,483.80	24,778.60	1,129	1.31	1,478.99	39,683.48
30-Nov-17	1,123	2.20	2,470.60	27,249.20	1,123	1.31	1,471.13	38,212.35
31-Dec-17	1,118	2.20	2,459.60	29,708.80	1,118	1.31	1,464.58	36,747.77
31-Jan-18	******	******	****	****	-	1.31		
28-Feb-18					-	1.31		
31-Mar-18					-	1.31		
30-Apr-18					-	1.31		
31-May-18					-	1.31		
30-Jun-18	Ţ				-	1.31		
31-Jul-18	[-	1.31		······
31-Aug-18					-	1.31		
30-Sep-18					-	1.31		
31-Oct-18					-	1.31		
30-Nov-18					-	1.31		
31-Dec-18					-	1.31		
31-Jan-19					-	1.31		
28-Feb-19					-	1.31		
31-Mar-19					-	1.31		
30-Apr-19	1				-	1.31		
31-May-19					-	1.31		
30-Jun-19					-	1.31		
31-Jul-19					-	1.31		
31-Aug-19					1 - 1	1.31		
30-Sep-19					-	1.31		
31-Oct-19					-	1.31		
30-Nov-19			······		-	1.31		
31-Dec-19	+				++	1.31		